@ /NEhFNHERE ELEELERE A X
e

S1. 3} 59.8+99.84+999.849999.8= 9
(A)19999.2  (B)11199.2  (C)11100.2 (D) 11109.2

S2. — I YIE—fEr o EAE R ?
A3 B4 (O)5  (D)3~4-SEHAHE

I1. 20 - R9em > TE8emiy £ /51 #Y o i) 43 — flfl F i fldl &= 5 16 #

BRI R - A1 5 B B 0 4 1 TR R 1 B 258 A 2 F 5 40 149 - 8cm
HE » HExE % Aem ? N
9cm

12, SHEE23 A MAR S - SEME T B 18 A > S5 {8 HF AR AR 85 4 2 B9 A L 18 5 SRR $209 58 2
% A 9

RI-A. % 4E > Tina 8B > W50H605% » PB4 - I 09 4E B R Tinaly56% ?

R1-B. T= {R Y15 B 0B - 45 B3 < 31E H I I 51 N EE —HE - O 4 8

MEAET o EYID R R E A E S E S FIEES  SRx= ? - X

Bl

T1. {3 B ATRIZES61 » Horh—{E N # AR 20 » AR 0L > HIEd 55— nBAA R - 38
e BrEZ A 2

T2 AEF AL +243+ - +994+ 1001 - 5 Fr 45 ik LLABR3A 8wl 0 A 11 35 SO 8 e > B SRR P
[ R 2



	頁面 1
	頁面 2
	頁面 3
	頁面 4

